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1+ Which of the following pairs is 1. Frafaftea 3@ § @ $H-81 w8 gy

Correctly matched? 27
Nobel Prize Winner  Area of eIt GEehr SRR &R =
(2022) Prize (2022) BE]
[A] Svante pas — Physics ;
n” vante P&dabo ysi [A] = R 1 R
| Alain A t — Chemistry
. = (B] ToH IR — WA T
Morten Meldal — Economic
Sciences [C] WéT oot —  Teieh Ry
[D] Annie Ernaux — Literature [D] &t wAtem — ™
2. In which of the following cities was 2. f % @ fopm e 20 34, 2023 Y
the Global Buddhist Summit held Irifia e g Rrew T aem
on 20th April, 20237 B3 U7
[A] Delhi
] Kathmandu m% [B] sHr@Hig
[C] Kuala Lumpur [C] FITT TR
[D] Jakarta [D] Srehrat
3. Which of the following countries 3. frafafea 3 ¥ fem g % g, 2023 7
has awarded the highest civilian Rt Ty
award ‘The Grand Order of the - Wﬁﬁwhﬁmﬁ%a’({?{
Chain of Yellow Star’ to the 3?:[ T g I8 I Ah
President of India during her visit T o 3T I R § geniAa foman mn
in 20237 g oy
[A] Egypt - .. & [a] fam
[B] Malaysia 8 [B] HeifRwn
[C] Indonesia O J¢) e
[D] Surinam [D] g™
_.4. Who is the author.of the book The 4. The Coalition Years T&i% % oi@d® i
_____ _ Codlition Years? . g7
[A] Shashi Tharoor--. .- ..-. [A] ST 9=
[B] Pranab Mukherjee - [B] Sur Fasft
[C] Ravi Mathur '~ - [c] T R
N [D] Wo W, &7

[D] M. M. Singh

3-B 2



5. With reference

3-B

to the North
Atlantic Treaty Organization

(NATO), which of the following
statements is/are correct?
I. It has 42 member nations.
II. Its Headquarters is located at
Brussels.

Select the correct answer from the
options given below :

[A] Only I
[B] Only II EAE
[C] BothIand II Op%A

[D] Neither I nor II

. With reference to G20 (Group of 20),

which of the following statements
is/are correct?

I. India took over the G20
presidency from Australia on
1st December, 2022,

II. The first G20 Summit was held
in Washington in 2008.

Select the correct answer usiﬁjg
the options given below :

[A] Only I

[B] Only II

[C] BothIandII
[D] Neither I nor II

mimimimi o 4

Which of the following Articles of
the Constitution of India talks
about the Uniform Civil Code (UCC)?

[A] Article 43
[B] Article 44
[C] Article 45
[D] Article 46

In 2023, which US State recently
declared holiday in public schools
on the festival of Diwali?

[A] Los Angeles
[B] Boston

[C] Jersey

[D] New York

5. <l Jredied HU WIS (NATO) %
éﬁﬁ,ﬁﬂ%@ﬁﬁmﬁﬁﬁﬁw-mfﬁ
wd 2/27

[ 5q @meT 42 T wew #

11, e G g § St R
A e e bl § A T IR F =
#ife :

[A] e

[B] ®ae II

[C] 1T I3

D] A I3RARD

6. Ggo%éﬂﬁ,ﬁﬂ%ﬁﬁﬁﬁﬂﬁﬁﬁ
Fra-T1/3 wft /87
[ 1w, 2022 B WA 3 AR
3} goeh Ireagr W 6 et
Il G20 1 Tger et e 2008 &
FifieTe § weae g3 Ul
9 R e fredt § | W& I H =
Hifw :
[A]
-[B] ¥ I
[C] 1W& I &
[D] TR IRAA I
7. T SR S B 3e9E, TUH
Twiis | (UCC) i a1 T 87
[A] 38T 43 o

8. 2023 #, Tgw U9 TRt & e T
3 g & 3 Tl e #§ QU % fm
e B oo efte
[A] wfE wfaE
[B] S
[C] St
D] =H

[P.T.0:




10.

11,

12.

13.

+ Which of the following pairs is

correctly matched?
Name of Padma
Shri Recipients
[A] Shri Anand Kumar—
Science and Engineering
(B] Shri Moolchand Lodha —
Literature and Education
[C] Shri Janum Singh Soy .
Public Affairs
[D] Shri P. Kalyansundaram —
Social Work

Area of
Award

In which of the following States has
the world’s largest railway platform
been inaugurated?

[A] Karnataka

[B] Madhya Pradesh
[C] Rajasthan

[D] Delhi

Who was the Chief Guest for the
Republic Day in 20237

[A] President of Afghanistan
[B] President of Egypt

[C] President of UAE

[D] President of Indonesia

The Indian Government has
launched a rescue operation in
Sudan to evacuate its stranded
citizens. This operation is known as

[A] Operation Devi Shakti
[B] Operation Ganga
[C] Operation Addis Ababa
[D] Operation Kaveri

Which architect has designed the
new building of the Indian
Parliament?

[A] Ravi Modi

[B] Bimal Roy

[C] Bimal Patel

[D] D. Radhakrishnan

9,

HF«« D000 -

11.

12,

frfafaa 7wl # & F9-91 wf gifes
27
ugnsft SreRal IR 8y
(A] #ft 3= FIR —

o 3 afmifyg
(B] #ff Hera= a1 — wfeey au firn
) ot sm g de—ardetie T
[D] #t o FHeamrEew — FHIRF w4

. Fr=fefea # & form vsa o fava & waa

a2 1T wiew™ 1 IguTe R T 27
[A] FieH

| (B] Wex Wew
B [c] Teem

[D] feeeht

=1 7 & =, wra % o Rew 2023
¥ gy Ay 97

(A] FFTE % Tsafy

(B] T % wrgufey

[C] ¥g 3w i & Tegafa

[D] s ¥ Tseafy

HSH # Gl §Y R Amiiant 6 Frgwao

2 I TR G T S 5 g
T T e 38 s 1w e

[A] 3fotem 2t wifts
[B] 3OS Ty

- [C] ATEE Infew s

13.

[D] TR FHrat

R TG % 73 9 i i g 3
fesmen foman anr?

(A] T wd

(B] Tomet T

[C] fomer wee

[D] o THFIH
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14. Which of the following statements

15.

16.

3-B

is/are true about Coalition for
Disaster Resilient Infrastructure
(CDRI)?

I. India is a member of CDRI.IE
I1. It is a UN agency. E

[II. Its headquarters is locatedgn
Paris. 0

IV. It was launched during G20
Summit, 2023.

Select the correct answer from the
options given below :

[A] Only I
(B] Only I and II
(C] Only I, IIl and IV

(D] 1, II, Il and IV
-

Agricultural drought is deﬁnelgl'a%l

[A] uneven distribution of rainfall
over time and place

[B] low soil moisture

[C] inadequate rainfall of 30 percent
or more in cropped areas

[D] the lack of water supply in
water storage reservoir which
can be compensated by normal
rainfall

Indian National Centre for Ocean
Information Services is located in
which of the following cities?

[A] Mumbai
[B] Delhi
[C] Kolkata

[D] Hyderabad

14.

freifiea o & amar wfoRiE giwnd @t
¥ foru TeAEH (CDRI) % &R & ®H-w1

o wh B/R7
[, WR@ CDRI %I & Bl
1. 7@ T UN T 2
111, e gEATer e # e 2

[V, sl I G20 ®fE, 2023 ¥
Tl

3 fag g Fapedt # 8 T I A

Hifer :

15.

16.

(A] A I

[B] Faa 13 II

(C] ¥ae I, 1 3 IV
(D] I, 11, I 0T IV

ﬁ@ﬁmﬁaﬁmm%

(A] GHETERy T TF % gfeeshiv | aui
w1 e faaon

(B] e st arwan

[C] 30w =1 35@ At FRTH u
%1 FEelt & & g

(D] Vet U WeR # wemqfd # et

g ol w9 | @ R
S |

frfafiaa # @ fora et &yt T
HEETR o1 841 s, o 37

[A] g
[B] ﬁr_vﬁ
[C] =hieTehTan
[D] ReUETE

[P.T.O.




17, Which of the

are Correct r
Lake?

18,

19.

20.

3-B

following statements

egarding Yaya Tso
|

It is located in Ladakh.
I

It is Ladakh’s first
under
Act,

heritage site
the Biological Diversity

L. 1t is also known as bird’s

Paradise,

IV. 1t is fed by Sutlej river.

Selt::ct the correct answer from the
Options given below :

[Al Tand 1 only
[B] I, Il and IV only
[C] L, Il and mI only
[D] 1, II, Il and IV

'}‘he Lakdawala Committee (1993)
1s related to

[A] income inequality
[B] poverty estimation
[C] inter-State relation

[D] biodiversity conservation

The Universal Declaration of
Human Rights, adopted by UN
General Assembly, does not include
which of the following?

[A] Dignity, Liberty and Equality

[B] Right to Life

[C] Freedom of Adequate Standard
of Living

[D] Right to Universal Basic Income

Which of the following is neot
considered a subsidy box for
agriculture in WTO?

[A] Green box subsidy
[B] Amber box subsidy
[C] Red box subsidy

[D] White box subsidy

17. T 3 F e F e

S«« OO0

=
Ik

18.

19.

20.

N

F T 87 T
L. I8 werE o g
11 ugﬁaﬁﬁumaﬁrﬁwq%agaw@
1 yuy form wom )

101, @WWW@IWW%!
IV. I gaes 44 & g fafm 2

Ao fow o faeredt ¥ W@ v W v
Hifor .

[A] e 1T I

[B] %&e I, W i Iv
[C] ad I, I W& 11
[D] I, II, I @& IV

AweETen aiifd (1993) Hafte &
[A] 3 ferwmar &

[B] Tt st &

[C] I gy @

[D] Srafafauar sgor @

HET TP WEEMT GRI AFTE T8 A
HiHRi = T wwon § Frefafaa
T ¥ HiH-F1 i T 27

[A] EPH, AT U6 A

[B] Sfad &1 3R

[C] I Sita A9 T T
[D] " smaRE 3T F SR
WTO 3 3, it 22 e 37wt
i o & 3 e @ e s 27
[A] T ST A

[B] TR Fiad I

[C] & W9 I

[D] =TEE FeE IFEH
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21.

22.

23.

24.

Which of the following statements
is/are true for alluvial soil?

I. Its sand content decreases
from west to east,

II. They are in the form of
Bhangar and Khadar,

11II. This soil covers about 40 percent
of the total area of the country.

IV. This soil is rich in potash and
poor in phosphorus.

Select the correct answer from the
options given below :

[A] 1 only

[B] I and II only

[C] L, I and III only
[D] L, II, IIT and IV

PM KUSUM Scheme is related to
[A] agricultural solar pump system
[B] electrical vehicle subsidy

[C] semi-conductor sector

[D] fertilizer sector

Labour force participation rate is

defined as the

[A] ratio of unemployed population
to work force

[B] ratio of employed and willing to
work to working age population

[C] ratio of employed to
unemployed population

[D] ratio of work force to working
age population excluding
disguised unemployment

World Social Security Report is
released by which of the following?
[A] World Bank

[B] UN Women Commission

[C] ILO

[D] UN Human Rights Commission

21.

Hde«dO000

ey fuft & dd H, Pt 3 2

He-a1/d FoE T R/E?

1. il Yo <R o TR 8 g o

 wft R

11, A R G Ee = A

I 3 17y 271 3 F1 @A T 40 T
faem 21

1v. 59 figh & dvem A s o
wheita 1 T 57 B

Y fu mu Rrepedt § ¥ F@ I H A
HIfrg :

maE

.

23.

.24,

[A] e I

[B] %€ 1T II

[C] el L, T 1T -
(D] I, II, M @& IV

oy pgu A Hafd
(A] Fi N T e E
(B] forgm e atEH &
(C] &t et & &
[D] I &

st wevfiven @ fom w9 H wiomfya

o S &7

[A] SA SEEE F Sl g w5
A '

(B] Frifm @ R & w=g% &
FriEfer g SEE % Wi A

(C] TR T AT S T 1 S

[D] S8 SRS i SIS, HFITH
we Frire 31wt < S = S

foma granfoms gean R, frifeea & @

A] femds .

[B] UN afgem sma

[C] ILO '

[D] UN #HETREBR 3

[P.T.O.




25. Which of the following statements
are correct regarding Kharai
camels?

I. It is a rare camel breed found
in Ladakh.

II. Their name is derived from the
local word ‘Khara’ meaning
saline.

III. They swim long distance in sea
to reach their grazing areas.

IV. They were anciently used in
il the ‘Silk Route’ areas.
: Select the correct answer from the
[} options given below :
O [A] I and III only
B [B] II and 111 only

[C] I and IV only

[D] I, 11, 11l and IV

26. Which of the following statements
is/are correct regarding Gini
coefficient? e

I. It measures the level of income
inequality in the society.
II. Higher the Gini coefficient,
EEE  lower the inequality.
E%E 1. It can be derived using the
Lorenz curve.
Select the correct answer from the
options given below :
[A] 1 only
[B] I and III only
[C] I and II only

[D] II and III only

27. Where is Dibru
Biosphere Reserve located?

[A] Arunachal Pradesh
[B] Assam

[C] Manipur

[D] Sikkim

28. Earth Overshoot Day is related to
[A] environmental degradation
[B] overheating of troposphere

[C] melting of glacier due to
intense sun rays

[D] geomagnetism

Saikhowa

e __

25. = & ¥ BH-8 T, T 2 & Gy
i adt €7
I ¥ Wer@ | U I A gey
yeiifer 21
II. 371 99 T 955 @R e
a1 A B ], A m
11, 3T SIRPTTE 7 T % fore 3 gy
¥ wweft gl 7 o §)
V. W= 989 § 391 s fires v
&= o grar &
= fe my faepedt # & v I = wy
$ifre - _
[A] ae 1Td I
(B] el II TS III
[C] %ad 1Td IV
[D] I, II, NI @& IV
26. firft % e # frafafea & @
HH-H1/8 Fo7 ah 2/27
1. 9% TH § T F IEEE F &R
I HIgar B
11. it ores e stfres g, sewmer
a1 & ghi
III. %€ W1 536 o SoINT & oot fa
e Bl
= few o fopet § & vl s @ 99
Hifer :
[A] e I
[B] %aef I TE III
[C] FadA [T 11
[D] &l I1 @F 111
27. T @aar 9 3am, P d A s Ra iy
[A] JFETE S
(B] &H
[C] wfrg
[D] Tafery
28. 1Y sftawye feoe wafig 2
[A] gaTeRoT & §
[B] R =1 st o B &
[C] ﬁ‘ﬁf@lﬂtﬂmﬁmqﬁﬁm%ﬁaﬁ

[D] Y- &
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31.

m

32.

3-B

At which of the following Indus
Valley sites was a terracotta replica
relating to exploration of g plough
discovered?

[A] Dholavira

[B] Kalibangan

[C] Rakhigarhi

[D] Banawali

In which district of Jharkhand is
the neolithic archaeological site
Barudih located?

[A] Hazaribagh

[B] Simdega

[C] Jamtara

[D] None of the above

Which one of the following
administrative structures in
ascending order is correct?

[A] Dronamukha, Sthaniya,
Samgrahana, Karvatika

[B] Sthaniya, Karvatika,
Dronamukha, Samgarhana

[C] Sthaniya, Dronamukha,
Karvatika, Samgarhana

[D] Sthaniya, Dronamukha,
Samgarhana, Karvatika

Prabhavati Gupta was the ruler of
[A] Gupta Dynasty

[B] Sunga Dynasty

" [C] Vakataka Dynasty

[D] Maukhari Dynasty

-—*——

)

30.

31.

32.

frerferfian # @ o fary o) v
e o ai wf He h afpfa foef 7

[A] sheTEt

(B] HreE

(GRuiC

[D] ST

TaqTaITtTeR QU SEEiE, FRES & fohu
fadfemgr ~

[A] ESTHISTT

(B] e

[C] TSt

[D] 3 # A HrE
Freferfea § & SR-H yemfE
SRR E
[A] SlIgE, T, e, H-aieH
[B] ¥, F-TfeHT, FUrgE, HET
(C] T, S, -, HE
[D] ¥, RO, e, -

TS W SRy oft
[A] TE = H

[B] W1 aw

[C] Tehiges T Y

(D] Wed dw 61

(P.T.O.




33.

34,

35.

36.

3-B

—

The Sangam text Tolkappiyam is a
work on

[A] astronomy
[B] grammar
[C] music

[D] medicine
Who was responsible for the smooth
functioning of the Mughal
Mansabdari system?
[A] Vakil

[B] Wazir

[C] Mir Bakshi

Ooooo»» =

[D] Sadr

During the Mughal period, the
coins minted during the previous
reign were called

[A] Khajana
[B] Chalni
[C] Mohur

4

The capital of Vijaynagar Empire
was situated on the bank of which
river?

[D] Bikha

[A] Tungabhadra
[B] Narmada
[C] Godavari

[D] Bhima

10

33.

34.

35.

36.

B

[A] @ o ™

[B]-WIEFIU[UI

[C] |fid T

[D] fafeear w

TS AR S % garE Geer %
fore i serft gran o

[A] i

(B] &fit

[C] HR it

(D] 9% |

el HTel & e, s sIaase $
A @1t MU fant s et SaT o
(A] @S

[B] =Test

[C] E&X

D] femn

ﬁmﬂtmﬁaﬁmﬁﬁﬁaﬁ%
e R e oft? :

[A] g

[B]

[C] Teredt

[D] sfta



g7. Which of the following is not

38.

39.

40.

3-B

correctly matched?

Building Builder
[A] Lal Mahal — Balban
(B] Hindola Mahal— Hoshan
Shah
[C] Jahaz Mahal — Ghiyasuddin
Khilji

[D] Lal Darwaja — Bibi Raje
Mosque

Who among the following is not

a
painter of Jahangir’s period?
2
[A] Mansur 2
0
[B] Manohar O
O
O

[C] Khwaja Abdus Samad
[D] Abul Hasan

Which Congress Session passed
the resolution of Fundamental
Rights in 19317

[A] Allahabad
[B] Karachi
[C] Mumbai
[D] Gaya
Who among the following said “The

Ryotwari is a system which has
always prevailed in India”?

[A] John Shore
[B] Alexander Duff
[C) Captain Reed

[D] Thomas Munro

i

11

37. ﬁqﬁﬂﬁﬂﬁﬁﬁqﬂﬂ@%ﬁﬂﬁ%?

38.

39'

40.

zamA fmiuresat

[A] @ HEE  — S

(B] e W — ERMUE

(C] e Eel  — TETge fae

[D] @TE q@NT — it 7
LIT

fowt i B e % g o e T

27

[A] TE

[B] TR

[C] T 37e5H FHG

[D] g 78

1931 3o #, FOW ¥ fhw e F

Mferes iRl 1w TRa g7
[A] FETRIEIG

(B] s

(C] ge=g

(D] T

frffga 3 & fred wear o1 W@aard @&
el o B S WRa # g @ sl
w2

[A] S TR

(B] AT H
[C] FuH/®H<A {te
[D] &feE TR

[P.T.O.



41.

42,

43.

44,

With - which of the following
newspapers was Gandhiji not
associated?

[A] Young India
[B] Indian Mirror
(C] Harijan

[D] Indian Opinion

The Treaty of Amirtsar was
concluded between Maharaja Ranjit
Singh and

[A] Lord Cornwallis
[B] Lord Dalhousie
[C] Lord Hastings
[D] Lord Minto

Which of the following books has
not been written by Dr. Ambedkar?

[A] Thoughts on Pakistan
[B] Annihilation of Caste

[C] The Problem of Rupee : lts Origin
and Its Solution

[D] Servants ofIndia

Consider the following statements ;

I. The latitudinal and longitudinal
extent of mainland India is
around -30°.

II. From Gujarat to Arunachal

Pradesh, there is a time lag of
two and half hours.

The 82°30"E is the Standard
Meridian of India.

IV. Time along the Standard
Meridian is taken as the
standard time for India.

Select the correct answer from the
options given below :

II1.

[A] I-True, II-False, IlI-False, IV-True
[B] I-True, I-False, IlI-True, IV-True
[C] IFTrue, [I-True, OI-True, [V-False
[D] I-False, I-True, IlI-False, [V-True

12

41.

42,

F««O000

43.

-
1%

¥

= 4 9 fohe T v R mEre g
wafe T &7

[A] Young India

[B] Indian Mirror

[C] Harijan

[D] Indian Opinion

Frmae 6 Gt werwer Wl fig sy
__ % o9 9 gl

[A] @€ HHaTOE

[B] ®iE So@tt

[C] @iE Bfeem

[D] @i fiat

freiferfas § 3 -2 T oo e
B foreht 7 R ?

[A] Thoughts on Pakistan

[B] Annihilation of Caste

[C] The Problem of Rupee : Its Origin
and Its Solution

[D] Servants of India

. Fr=faRes Tt w femw #t -

1. Y& WA 1 JeTeig 3R ety
foream @mam 30° R

1L TS ® e Y2y ¥ 9 an
HUE T 3 B

82°30" Yo WA H W ST 1@
2

A ST TE&T % T99 $! 9T &
T qe w5 S 21

= fou T R § § wd S9 o ==
Hifse

[A] -9, 11-379cd, 1136, V-9
[B] 1-9ed, -39, [1-9&, V-8
[C] 19, -8, M-8, V-378
[D] 1-318ed, 11-9c4, [I-376c, [V-ac

I11.

IV.
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45.

46.

47.

3-B

Which of the following statements
are true?

I. The Tropic of Cancer divides
India into two halves,

[1. The Tropic- of Cancer divides
Indian International boundary
into two halves,

1I. Maximum East-West expansion

of India lies along the Tropic of
Cancer.

IV. Line joining the easternmost
and westernmost points of
India lies to the north of the
Tropic of Cancer.

Select the correct answer from the
options given below :

[A] Tand I

[B] Il and IV
[C] I and TII
(D] I and IV

i

Which of the following Indian States
shares its boundary with Bangladeshy,
and Myanmar?

[A] Nagaland
[B] Tripura

oogocmsw

[C] Mizoram

[D] Manipur

From north to south, Western
Ghats are locally known as

[A] Sahyadri-Nilgiri-Anaimalai-
Cardamom Hills

[B] Sahyadri-Anaimalai-Nilgiri-
Cardamom Hills

[C] Nilgiri-Sahyadri-Cardamom
Hills—Anaimalai

[D] Sahyadri-Nilgiri-Cardamom
Hills-Anaimalai

13

as. Fre @ @ F-A Fo w9 87

46.

47.

11, 5 T W 36 S e v
1 2 feegt # wiean B

1L Wﬂ‘ﬁ‘@”ﬁa'mm”m
=% Y@ qu-aY 8

1v. urE # vl gl aft s wieed
ﬁgﬁﬁﬁﬁgﬁaﬁﬂ%@ﬁ}@%
I & fRm 2l

R g e feet # 9 W IR T
Hife :
(A] 13RI

[B] I 3 IV
[C] 1SR I
(D] 13RIV

frferfee f & SH-w1 T, SRy
37K TR % @y de A S 27

[A] e
(B] Fga

[c] Pt
[D] wfoTg

I & <o, e Eet ) e A

AT ST R

(A] SER-NeRr—smmems-seam
feew
[B] HeATfg—smmemi-Arafil-$am
feew
[c] Fefirl-weats—wem few-
EEILEH
[D] TEafE-frefif-wrdmm faeu—
EELEIH

[P.T.O.




48,

49,

50.

Which -of the following rivers does
not drain into Arabian sea?

[A] Krishna
[B] Sabarmati
[C] Tapi

[D] Narmada

Mango showers are common
phenomena in which States of India?

[A] Uttar Pradesh and Madhya
Pradesh

[B] Madhya Pradesh and Karnataka
[C] Uttar Pradesh and Tamil Nadu

[D] Kerala and Karnataka

Which of the following statements
are true?

I. Bajra is sown in hot and dry
climatic conditions of western
and central parts of India.

II. It is a hardy crop which can

resist frequent dry spells.

III. Being a rainfed crop, the yield

of this crop is low in Rajasthan.

IV. Rajasthan

production.

leads in its

Choose the correct answer from
the options given below :

[A] Tand II

[B] II and III

[C] III and IV

[D] I and IV
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48.

49,

50.

F««OO00

¥

e § & He-eh T8 o TR
T8 et 27

[A] o
[B] gt
[C] ardt
[D] e

JTHEY, R < o T 8 A wen R,
[A] IR WeW T WEA Vel

[B] Wex W& W e

[C] I Wew T dferg

[D] ¥t Ud FAfe

fafeafe & @ S9-2 s am 2
1. R & wivadt 3R 7eg i & o

3R I STeary Wi § S a9
EICI]

II. 92 U H3R FHA 8, I gR-a1 H
I €1 @ five wemar 3

Il SR FEe BH & SR, T o
TEehl IcTEHaT FH R

IV, USRYM 39 3I91eT o amoft 2

frforfea fomedt § & wét 3ot

[A] 13 11

[B] I 3R 111

[C] m 3 v

[D] 13RIV
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51.

52.

53.
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3-B

The dryland farmin
1argely confined to
having annual rainfall

g in India, ig
the regions
of

[A] less than 25 cm
[B] less than 50 cm
[C] less than 75cm

[D] less than 100 c¢m

As per 2(_)11 Census, inter-state
female migration by place of last

residence in Indig followed the
sequence of

[A] Rural to Urban—-Urban to Rural-
Urban to Urban—Rural to Rural

[B] Urban to Rural-Urban to Urban—
Rural to Urban-Rural to Rural

[C] Rural to Rural-Rural to Urban—
Urban to Rural-Urban to Urban

[D] Urban to Urban-Rural to Urban-
Rural to Rural-Urban to Rural

On the basis of population size,
which of the following is the
order of urban

agglomerations?

[A] Chennai-Bengaluru—
Ahmedabad-Hyderabad

[B] Bengaluru-Hyderabad-
Ahmedabad-Chennai

[C] Ahmedabad-Hyderabad— .
Bengaluru-Chennai

[D] Hyderabad-Chennai-Bengaluru-
Ahmedabad
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51.

52.

53.

H««OOOO

T e A TR T o RO

W § s oy A @ T wwt aw
Hiftm &, &l =nfifes ai

(A] 2588 %0 8
(B] 50 @ & A &
(c] 75 FHA A

[D] 100 &.Ht. & &0 &

2011 SHTVET % FTER, IR § Afgenaii
1 FT gaE, SrEl R e
¥ organ e e d 2

[A] T # TR F TR F T
g § Tq

[B] W& § Ta-IET § AET1d & g
g & it

[C] TE § Tie-TTa ¥ TE-IEL § -
TE | W&

[D] &t & Wi ¥ weet @ fa-
I G T

SHEET AR YR | e # @
HH-T1 Tal P 1 AR B9 27

[A] =S-SR e
[B] STe-ReTeTE-STrgm-Swg
[C] FTEwgTaTE-ReTraTE o<
[D] e~ - TEHeTaTE

[P.T.O.
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4. The ~.Provision

for Election

-Commission in Indian Constitution

56.

57.

3-B

was inspired by which of the
following countries?

[A] Ireland
[B] United Kingdom (U.K.)
[C] United States of America (U.S.A/)

[D] None of the above

Under which Article of the Indian
Constitution, can the Rajya Sabha
authorize the Parliament to legislate
on a State subject by 2/3rd majority?

[A] Article 249
[B] Article 243
[C] Article 259
[D] Article 250

Which Article of the Indian
Constitution says that Directive
Principles of State Policy are not
enforceable by any court?

[A] Article 39
[B] Article 38
[C] Article 36

(D] Article 37

Under which Amendment Act was
the reservation in promotion for the
Scheduled Castes and Scheduled
Tribes ensured by inserting Clause
‘4A’ in Article 167

[A] 75th Amendment Act, 1994
[B] 76th Amendment Act, 1994
[C] T7th Amendment Act, 1995
[D] 108th Amendment Act, 2008
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54. WA iy § ST AR H T,

55.

56.

57.

fefefiaa § & foe om & SN 27
[A] STRRATS
(B] ZEes fohew (U.K.)

(C] EgF T=A FHRH (US.A)

(D] S # & B3 T

syt wfa % 6@ e % I
T, GEE WY 2/3 T H T
fopet R T s S o o Jnferepa
N FHA 27

[A] =G 249

[B] =08 243

[C] 3=8E 259 §
[D] =8 250 L
sy Sy 3 e e § 9% Secikad
2 fr oo % fifq Ficares acl i ol ot
TEITeR G G el 18haT ST B 87
(A] 3T 39 "
[B] 3T=a% 38 2
[C] 3T=T 36 =
[D] 38T 37 E

fopg weie sfufrEm % 3, FTSG
167 4A g Frgefea St 3 SEgr
St % forg wdafar o smaror gifeed
Terar T ?

[A] 7591 TeNER FfuEE, 1994
[B] 76dt wuiER Jfufm, 1994
[c] 774t wuem Ui, 1995
(D] 108al FeeA Ffef=m, 2008
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58-

59.

60,

which of the following st
are true about Telecm%] R‘:;r&ints
Authority of India (TRAI)? %

I. It was first established in 1997
II. It is a statutory body.

[II. It was established to regulat
s

telecom services, incly

fixation /revising tariffs. T

Iv. Its headquarters is located in

Mumbai.
Select the correct answer :
(A] Only L, IIl and IV
[B] Only L, Il and III
(C] Only II and III
(D] All of the above

Which of the following Committees
were appointed to inquire into the

working of Panchayati Raj
Institution in India? o
[. L. M. Singhvi Committee :
I. G. V. K. Rao Committee O
[II. Ashok Mehta Committee E

[V. Balwant Rai Mehta Committee
Select the correct answer :

[A] Only I, II and III

(B] Only III and IV

(C] Only II, III and IV

[D] All of the above

Which date is observed as the Good
Governance Day in India?

[A] 14th November
[B] 25th December
[C] 2nd October
[D] 1st May

(] Sl
~th
L1k
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58.

59.

60.

e —

ot i & - o, T 36 G
Py SRR (TRAI) FANH AE E?

| o wevem 1997 €A AT ol

11. WWWW%I

11 ﬁwaﬁum/ﬁsﬁmﬁﬁﬁ
W Farait H ffafe =3 %

foru &1 7 ot
V. mwﬂa—gﬁ@ﬁél
qﬁmﬁﬂWW‘
[A] Fael 1, 1 AR IV
(B] ¥ad 1, 11 3T 111
(C] e 11 3 I
[D] 3w A
e 3 Tl T w3 e
st % R, Refufea § & sH-H
wftferrt frges & 8 o7
I Telo W, Fudt @fifa
11, o flo o T WA
111, 3 e wffa
1V, Soad 09 dear affd
Té I 1 =TI HIC :
[A] Faa 1, I 3R 11
[B] e I 31 IV
[C] aet II, 11 3R IV
[D] 3 wit
v # farw ol =1 g feawr & =4
¥ e T 8§ 7
[A] 14 FawR
[B] 25 feamr
[C] 2 sl
[D] 17§

[P.T.0.




61. Which among the following is not
true about the Comptroller and
Auditor General of India?

. The administrative expenses of
his office are subject to vote of
Parliament.

II. He is not eligible for further
office under the Government of

India or of any State after he
quits office.

III. The CAG can be removed from

office on the ground of proven
incapacity or misbehaviour
after an address by both the
houses of Parliament.

Select the correct answer :
[A] Only I

[B] Only II and III

[C] Only II

[D] Only I and III

62. Reasonable restrictions on

‘Exercise of Freedom of Speech and
Expression’ under Article 19(2) are
Jjustified in the interest of which of
the following conditions?

I. Security of State
II. Defamation
III. Sedition
IV. Public order
Select the correct answer :
[A] Only I and II
[B] Only II and III
[C] Only I, I and IV
[D] All of the above

3-B
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61. f=fefan & & F-w1/8 fioas o
wETerEn Tl & a1 A e T,

1. 3% FETEE % TERS @ goe 3
Td % i B |

II. 3 Y€ HI Bigd & 918 98 9
TWHR 1 TG & 7t 377 #1$ ve
N & I T8 R

. §9g % QI ®edl # F&mar o
geleRr wifyd A ¥ 3MYR W &
e @ wEEE-vias w5 3%
92 ¥ TR W Hehal &1

TR I 1 =47 FIf -
& [A] e 1
gr'l‘g%ua] ee 11 3R 111
[C] %&aa II
[D] Faa 13K 11

62. =BT 19(2) & 3Iidiid, WY Ik
Fiftreafas &) waear & @ W T
yfesy, Frefafea § @ fo offafy
3fa F&TET I GehaT 27

I. TS = geam

IL. Mg

[ TSIRE

IV. T saae
HE I BT TG HIT
[A] Sael 13RI

[B] & II 3R 11
[C] & I, 11 3R v
[D] 3udth w+ft

S« O000
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3. Which Committee’s

64.

65.

66.

&R

re ort
the w‘_ay for the ppnchga\red
(Extension to Scheduled Areqs Yatg
(PESA) 1996 for engyyy ) Act,

oSuring trjp,
rule for people ﬁVing ingSch:ilsem
Areas of Indigp uled

[A] Agricultura] sector
[B] Transport Sector
(C] Industria] Sector

[D] Poverty alleviation

Which Index is considered a5 the

basis for estimation of Poverty in
urban areas?

[A] Consumer P.rice Index of
Agricultural Labours

[B] Wholesale Price Index
[C] Stock Index

[D] Consumer Price Index of
Industrial Workers (CPI-IW)

India is the largest producer as
well as the largest consumer a.nd
importer of which of the following
Crops?

[A] Wheat
[B] Cotton
[C] Pulses

[D] Sugarcane

.

e IO00.

19

63.

64.

65.

o
o

e witrfer 2 fate 3 v o gl &t
¥ T At st 3 fora syrfemdt wr-vmem
T e % wef # demrE (i
&=l 7% fore) arfufrm (PESA) 1996,
& fore wnf s fran e

[A] 3T Tgar wify

[B] Sffo #fto o T uitifer

[C] wifwr afafy

[D] Serad T dgar qify
fﬁ?ﬁaﬁaﬁuaﬁwﬁ,ﬁm%ﬁ%ﬁm
W Haifte we femm mn o7

[A] $ &=

[B] wiEeT &

[C] 3fehfis &

[D] Tt Sem

m%ﬁﬁm%mmmﬁm
IR B HAT 1 7

[P.T.O,
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68,

69,

70.

Which of the following is not a cash
crop?

[A] Jute

[B] Millet

[C] Sugarcane

[D] Peanut

Which indices are the basis for

determining sustainable
development?

[A] Ecology
[B] Social and cultural
[C] Economic

[D] All of the above -

% TE

In which year was Sustainable
Development Conference held in
Johannesburg?

[A] 1997
Ui
[B] 2002 :
2
[C] 2003 0
O
[D] 2004 0
O

What is sustainable development?
[A] Economic developﬁlent

[B] Environmental development
[C] Social development

[D] All of the above

r.*\
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67.

68.

69.

70.

e § § $-d1, e FEA T8 87

(A]

[B] SR

[C] T

{D] Tt

Haq faesra % frufor vg, 75 gassi @
FHTUR ST ST R

(A] writfeufaehr

(B) @i 3R wieplos

[c] =

[D] S @+

et # waq fewm atem e ad
A gam e

[A] 1997

[B] 2002

[C] 2003

[D] 2004

Taq e @ 87
[A] s forepr
[B] wafawfi fawm
[C] amfe T
[D] 3w &ft
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Wwhen did the te ‘ . .
27 L Development’ Com?}ntsoues;:izltl;gig 71. gaq AEE TR e eI T I A7
[A] 1980 [A] 1980
Bl 125 (B] 1987
(C] 1992
[C] 1992
(D] 1998
[D] 1998
9. When was the proce f i )
il & : reforms started in IEZi:?econDnnc 72. Wi § anfies guw H fsFa1 8 TE H
O
[A] 1990 g Lt
0 [A] 1990
[B] 1991 J
[C] 1993 n (Es
[C] 1993
[D] 1994 s
‘i [D] 1994
73. Match List—I with List—II and
select the correct answer using th
code given below : AR 73. @-—Iﬂ?fﬂ;cﬁ—ll o gafed =t A=
k] _ ﬁq@@ﬁﬁaﬁ!sﬁtwwﬁ;
List—I List—II
gt — 11
(a) Price discrimination (i) Ragnar Nurkse ! o
i) Land reform (i) Bretton Woods (@) e fore ) YR
() Vicious circle of (i#f) Land monapoly (b) Hfir g (ii) S IEH
BT (c) WOt F gk (i) I TR
d) I.B.R.D. (iv) Land
5 consolidation (d) 3o o 3o Fo  (iv) W THI
! .
| @ () (J (@ @ () () (@
Al @ @ 6 @ AAl @) i) ) @)
B] @) @) (v (i) Bl @ @ () (@)
1 @ @ 6 @ € @ @@ @
: . o .
D] v @@ @ ) Pl ®p & & @
21 [P.T.O.
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74.

75.

76.

T

78.

What do we call the distance
between two consecutive
Compressions of a sound wave?

[A] Wave number
[B] Frequency
[C] Wavelength
[D] Amplitude

Which of the following is a cause
of echo?

[A] Absorption of sound
[B] Transmission of sound
[C] Reflection of sound

[D] Refraction of sound

Light year is a unit of
[A] distance
[B] time

[C] energy

5=

[D] intensity of light 1[4

Which of the following cannot travel
in vacuum?

[A] Light

[B] Heat

[C] Sound

[D] Electromagnetic waves

- The process of superposition of any

information on radiowaves is
named as

[A] transmission
[B] modulation
[C] demodulation

[D] reception

Ooooo»»s

.%
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74, wf doi F & HArTd TS & e
gl &) & FEd o7

[A] d& T
(B] I
[C] Tmeed

[D] ™™

e 3 @ wiveafy o1 o @ 7
(A] T T FEET
(B] & 1 T
[C] Ay 1 T
(D] & &1 JTad

75.

TeHTYT 99 318 B
(A] g0 =

[B] €94 I
[C] St &l
[D] wehrst <ht i T

76.

T da =R, fel 3w @ o e?
[A] ST

T7.

[B] &1
[C] @i
[D] Toega =™ Tt

78. smew (eAt) aon w frdt g=a &
SRV Y AfsHaT &1 9 B |

(A] grafiee |

[B] HisseivH

(GREIES

[D] e




79.

80.

81.

82.

3-B

Angora wool ig

which of the o]l extract‘ed fro

Wing Nimago
[A] Sheep

[B] Goat

[C] Rabbit

[D] Fox

Which of the foll

0 2 .
about RAM? WINg is not trye

[A] RAMis g temporary Storage areg
[B] RAM is E;ce a hard disc storage
[C] RAM is volatile memory

[D] Information stored in RAM is

gone when the compu :
t
turned off et

Us:ing websites to pour out one’s
grievances is called
[A] Web plea
[B] Web hate

[C] Cyber ranting

oooOorrn s

[D] Cyber venting

.h\ 3
Which part of Central Proce

Unit (CPU) performs calculations
and makes decisions?

[A] Alternate Local Unit
[B] American Logic Unit
(C] Alternating Logic Unit

[D] Arithmetic Logic Unit

23

79. T 3 & forg <t @ 7T I I 6t el

80.

81.

82.

27

A] W
(B] &ehit
[C] @@
[D] st

RAM Fait & fiq #f § -1 a@ @i 27
[A] RAM U et HUSTor & 3

[B] RAM T hard disc storage %t
E ¢

{C] RAM T aTeefier THH 2
[D] RAM # wuetia ge+r, St &
3T B9 9T 33 It B

et it Rt #t =56 F0 & fog
JEETE H1 FHT HEA 2

(A] 39 wf
[B] ¥ &
[C] |E=T Tfém

[D] W= SfeT

Yo M IHe (CPU) &1 SHH-H1 3,
TUMT ST & a1 IROnT ST 22

[A] Alternate Local Unit
[B] American Logic Unit
[C] Alternating Logic Unit
[D] Arithmetic Logic Unit

[P.T.O.




83,

84,

85.

86.

87.

3-B

TS W R T Y G TR

ICAR Day is celebrated on
[A] 23rd December

[B] 16th July

[C] 22nd April

[D] 23rd November

G;lobal Gene Bank of rice is situated
a

[A] Philippines

[B] Pusa, New Delhi
[C] Cuttack

[D] Hyderabad

Sugarcane is a

[A] short day plant
[B] long day plant
[C] day neutral plant

[D] photo insensitive plant

How many chromosomes are found
in the endosperm of maize?

[A] 20
[B] 30
[C] 40
[D] 23

Which of the following genomic
conditions is found in commercial

edible wheat?

[A] AB genome
(B] ABC genome
[C] ABCD genome
[D] ABD genome

S« 0000
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83.

84,

85.

87.

[ CRP

7o Hio Uo Mo T8 Ha HAT ey 3

[A] 23 feger

[B] 16 e

[C] 22 3

[D] 23 T

a1ae &1 A ST ¥ foda R
(A] Frefidig o

(B] @, 7 Refi §

[C] we

[D] ¥

T B

[A] %W EftrmTer &1 e

(B] ftes diftreprefia den

[C] Jewfia diftrebreli e
(D] Aftrepret & wia Serefia dren

weh o YIS 3 feha o I W #7
[A] 20

[B] 30

[C] 40

[D] 23

SEEE @n A i 4, fe A |
Hi-dt Sfifires feufy o s 27
[A] AB W

[B] ABc;ﬂq‘m

[C] ABCD SfiHim

[D] ABD sfiHH




91.

g, Alkaline soils can be improved
(A] by the use of lime
[B] by the use of gypsum

[C] by the use of saline water
i

2 D] None of the above
2
O

3% Which of the following signifies the
[ Lota Pahar?

[A] Centre of the Revolt of Tilka
Manjhi

[B] Centre of the Stone Age of
primitive people

*

15

s

+(C] A major centre of the 1857

g Sepoy Struggle

[D] A major centre of the Kol
Uprising

90. Which elephant of the Chhota

Nagpur Raj has been mentioned in
Jahangirmama?

[A] Moti Chandra

[B] Sharat Chandra

[C] Nagpuri Pitho

[D] Shyam Chandra

Rohini, one of the major centres of
1857 uprisings, is located today in
which district?

[A] Godda

[B] Jamtara

[C]. Deoghar

[D] Dumka

3-B
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89,

90.

91,

et it 8 e

(] = 3 ST A

(B) R 3 s A

(c] Wit Tt & ST A

(D) 3w # & HE T

e & il TETS 1 T T
1 87

o) o it 35 e 1 37

(B) sl SR 1 FH

(© 1857 35 T T 1 O T s
(D] Hret FgiE 1 9 FH
ey 3 Srermg T % R ar
%1 Joora fokar T 27

[A] HIdt =5

[B] ¥Rd =g

[c] =mgd fast

(D] v =5

1857 I shif=rehrt ittt =1 wgw ¥
Aot mor Forer ok 3 oo 27

[A] g '

[B] TS

[C] SR

[D] gHsht

| B.TO:



92. Who is the most important God of
the Santhal Tribe?

[A] Marang Buru
[B] Marang Manjhi
[C] Moreko Turiko
[D] Thakur Deo

93. In which town was the Rajkumari

Leper Asylum, 1895 established?
[A] Deoghar

[B] Ranchi

[C] Daltonganj

[D] Hazaribagh

94. By which term does the Hill Kharia

community refer to a body bigger
than the Panchayat?

[A] Parha
[B] Chira
[C] Para
[D] Bara Jutan

95. Who among the following was

considered as the head of the
village?

[A] Khuntkatti Raiyat
[B] Jeth Raiyat

[C] Asami

[D] Bhogta

‘Thendiri’ and ‘Bidadiri’ rituals are
related to

96.

[A] Santhal matrimony
[B] Oraon birth ceremony
[C] Munda last rites

[D] Oraon last rites

3-B
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92, TUTE TN % TN Y@ dF FH #7
[A] T g%
[B] W HiEh
[C] ! R
[D] 313 ¢F
. T F% M, 1895 FRE W #
iy fopam T 4r?
[A] SR
[B] Ut
[C] STeewa
[D] ESIHIEmT

0
(=]

94, few wiear wa, =T & 9 §E21 H

1 el R7 T

[A] 9C&T

[B] =t

[C] et

[D] =81 9eH

Eﬂ%ﬁaﬁ%aﬂﬂ,nﬁ%mm&wﬁ
?

|A] e T
[B] 93 W@
[C] smemh
[D] e

95.

96. Uiy wa Frefel vewm 93 #
[A] ¥ue foamE @

[B] g Fiee A

[C] Her smifR &

[D] 3Ua FiAfee &

b e E— T N T T e e
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97. In which year

connected with {1, r&?ﬁw ay(i;ridih
[A] 1871
[B] 1885
[C] 1904
[D] 1915

98, f[‘h? famous pilgrim centre Parasnath

(1:} 1:;1 ;l';z Eémsg?prommiw of which
[A] Isri

[B] Dumri

[C] Madhuban

[D] Kakolat

99. Which of the following pairs is not
correctly matched?
Day Date

[A] World

Environment

Day — 5Sth June

+ [B] World Earth

Day — 22nd April
[C] World

Homeopathy

Day —12th March
[D] International

Day of Yoga — 21st June

100. Which of the following States has
launched the scheme ‘Learn and
Earn’in 2023?

[A] Uttar Pradesh
[B] Madhya Pradesh
[C] Rajasthan

[D] Haryana. -

3-B

2'7
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97. Pz o fpg a9 Yord @ SST T 477

[A] 1871
[B] 1885
[C] 1904

[D] 1915

»

el T9EE 27
(A] &l
[B] gutt

[C] #Y=H
[D] et

E««DEDQ

st e e, o 2 el

99. Freiffan § & w-1 7, wh gk

T R?

femm
[A] Tove amamEr feaw
[B] fow =it fomm
[C] fowm Emaieft femm
[D] F=aisfia I Rew

100.

e
— 5.
— 2030
—- 12 7

— 219 _

2023 H R T Y Eﬂ@a‘mm » I

T TR 27
[A] I e
(B] 7eA wew
[C] T
[D] & -

[P



